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https://www.youtube.com/watch?v=sqODzzZAtSs
https://www.youtube.com/watch?v=Pg_4aVh7GqY&t=197s
https://www.youtube.com/watch?v=A7xLvJp9C_o&t=1s
https://www.youtube.com/watch?v=Pb9XyIWuNDA
https://www.youtube.com/watch?v=aarY0d0s5Bg
https://www.youtube.com/watch?v=Rloezm60-tM
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Act. | Dur.(d | Prece | Follow E.S E.F LF L.S T.F F.F I.F C.P
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A 2 - | B,E 0 2 16 14 0 0 0 *
B 6 A CD 2 8 8 2 0 0 0 *
C 6 B|G 8 14 14 8 0 0 0 *
D 1 B |F 8 9 11 10 2 0 0
E 3 AF 2 5 11 8 6 4 4
F 3 D,E | G 9 12 14 11 2 2 0
G 2 F.C 14 16 16 14 0 0 0 *
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C.P:A,B,C,G=2+2+6+2+6+2+2=22
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Act. Dur.(day) Followed by Relationship
A 2 B F.5=2
E 5.5=3
B 6 C F.F=4
= F.S5=2
D F.S5=2
c 6 G F.5=2
D 1 F S.F=3
E 3 F =
T F.F=2
F 3 G F.5=0
G 2
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